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1 20373 20578 20502.71 2 1 8.0E4-05
20373 20578 20502.93

2 27789 28041 27857.10 0 1 6.5E4+04

3 27938 28147 28101.15 2 0 9.6E4-05
27938 28147

4 31171 31461 31312.90 1 0 2.2E+405
31171 31461 31314.32

5 31230 31482 O(torsion) 1

6 32980 33298 33127.65 1 1 5.6E405
32980 33298 33128.54

7 34967 35512 35202.76 3 1 7.7TE4-05
34967 35520 35202.89

8 35215 35450 35310.27 0 0 3.56E4-05

9 42167 42747 42386.73 2 0 5.9E4-05
42167 42747

10 42621 43135 42876.08 3 0 9.1E4-05
42621 43147 42876.23

11 43137 43507 43363.46 1 1 5.4E+405
43137 43507 43367.00 5.3E4+05

12 43308 44107 43443.40 1 0 5.7E4-05
43308 44107 43445.75 6.0E4-05

13 43429 43985 43507.60 0 0 1.7E4-05

14 44409 44936 44620.16 2 1 9.56E4-05
44409 44936

15 48003 48453 48258.34 3 0 5.8E+405
48003 48454

16 48437 49592 48777.32 4 1 7.1E405
48437 49592

17 49838 50555 49983.50 2 0 7.3E4-05
49838 50555

18 50353 50769 50338.43 0 0 4.7E+05

19 50400 50824 50546.90 1 0 6.8E4-05
50400 50824 50848.43 6.8E+05

20 51090 51833 51330.05 0 1 1.1E4-05

21 52546 53388 52806.81 1 1 1.2E4-05
52546 53388 52808.83

22 54551 55511 54938.03 4 0 7.8E405

06.1: 0000 (P-30)000000000O00
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54551 55511

23 55217 56123 55479.30 3 9.1E+05
55217 56139 55479.21

24 57069 57869 57335.18 4 7.4E+4-05
57069 57869

25 57421 58155 57736.66 2 7.3E405
57421 58155

26 60288 60932 60488.73 2 8.9E+05
60288 60932

27 61151 63275 61600.97 5 6.8E+05
61151 63275 61601.17

28 61263 61964 O(torsion)

29 62460 64772 O(torsion)

30 64988 66543 65489.36 5 6.4E+05

a 64988 66543

31 65789 66107 66042.40 0

32 65807 67386 66113.54 4 7.7E+05

O 65807 67386

33 66542 68118 66845.00 2 7.7E405
66542 68118

34 66726 67622 66903.64 1 2.3E+05

O 66726 67622 66905.44

35 67241 68549 67512.75 3 7.5E+405

O 67241 68554 67512.86

36 67893 70045 68137.47 0 1.8E405

37 68349 70278 68650.39 5 7.6E+405

O 68349 70278

38 68764 69500 O(torsion)

39 69460 70959 69750.40 1 5.8E+05

O 69460 70959 69749.00

40 69936 71422 70210.18 1 3.7TE+05

O 69936 71422 70211.90

41 70563 71697 70809.09 3

a 70563 71718

42 70692 72502 71024.48 1 1.8E+05

O 70692 72502 71025.98

43 71589 73295 71992.50 3 7.1E4-05
71589 73305

44 73386 76889 73904.04 6 8.7E+05
73386 76892

45 75598 78438 76212.95 6 6.4E+05
75598 78439 76213.02

46 76354 78941 76704.80 5 9.0E+05

a 76354 78941

47 77337 80334 77653.50 1 5.5E+05

a 77337 80334

48 78211 80471 78577.10 3 6.4E+05

O 78211 80510

49 78847 80473 79246.08 2 8.2E+05

a 78847 80473

50 79454 81526 79816.20 4 7.6E+405
79454 81526

51 79835 83349 80188.10 6 7.9E405
79835

06.1: 0000 (P-30)000000O0O0OO0OO
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061400000000000000D0O0O000DO0O0OOO0O0ODOOODOOODOOOLegDOO
0000000 1/QUoooooo

r=0.78 (6.19)

goooOoOoOoOO0O0oOOoOUOoOoOooUoQOOooooOoOoOOOOCOOUOOOoOoOoOoOoOoOoOn
oooooooooogo

00000000 (Order n>1000)

000000000 Oo0000oDoOoO0o00oooDOOdern>1000000000000OO
gboooboooboobooboboobooboobon

O0000D000000000D0000000 Hutchinson 000000000 ODOODO
00000000000O0000000O00oO0O0OO00O00OO 1/254mmO00) 0000000
000 1/QUUO00000000004mmO00000000000C0O0O00OO 03mmO000O0O
bobobOooobooboooboobooboboboobobooooooobooboboooboooo
OO00o00o0oO00obOoO0o0DbO0OskHzODODOOODODOOOOOOOODOOOOODOOOO
gbobooobooboobooboooboboboobobelsbbboobbOoOogsbnod
(5.39),(5.40),(5.41) 0000000000000 +0000 »O0D0000OO0DOOOOrder n O
0000000000000000000240

OO00e615000000000000000O00OOOQOOOOOOOOOOOOOOOO
ooooOOoOOOoOOO000000O0O00 Ordern>10000000 QOOOOOOOOOOO
gboboboooooobobobobooooboobboboooboboboooobobo
00000000000000000000?20

2900000 (5.39),(5.40),(5.41) 0 « 0000000000000 000000000000000000000
»0000000000D0000000000 1x1080000 QOOD00000000000000000000




94 060 0OO00QOOOODOO

1.8x10°
&
1.6
P M AN
o
®
a v
§ 14 5
(%] A (]
o ® n=2,even
g g = i [ ] X n=2,0dd
53 ® ® n=3even
g 1.2 B n=3,0dd
v ® n=4,even
@ B n=4,0dd
<) A n=5even
@ X v n=5,0dd
A n=6,even
1.0 vV n=6,0dd

10
Surface Area * Displacement2 [Hutchinson]
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Cross-Section* Displacement2
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Lateral Area* Displacement2
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2mnm 0000 4mmO00000000 2ecm 004
oboboooobobooboooobooDg
goooboooooobobooooboboooo
000000 TAMAOOOOOOOOO P-30
oooooobooog

0 620: 0D0000OODOOOOOOODO P-30
OQUOODO0ODODOO0OQODOOOOoOooooO
gbobOoooobooboobooobooboba
gbooobooooobooDbo

gbooobooobon

pP-1000000D0 pP300000D0O0O0DOOODOOOODOOODOODOOOODOOODOO
000 pP3000000000000000000000ODO0ODOO00O0O00OOODDO3000
gboooobooooobooboooobooobobobooo p300DbO0O0OOODOODOOOO
oood

OO00ODDD 20kHzO0O 80kHzO OO OO OO OHutchinsonOD OO O0O0O00000O /10000
goboooobooboo4000b0oboobbooooooooooobooobboooooooooog

obe620000

4000 Order n >10000000260000000000000000000000O00O00O0O
00000000003 00000000000000000000000000000000OA0
gobooobobooboboooboooboooboooboooboooooboboobooDbooobooog

oood

Mode 00 | Hutchinson(Hz) | FEM(Hz) | 00O (Hz) | Order n | Parity p | Best Q
1 20373 20578 20445.36 2 1 3.0E+06
20373 20578 20446.15 3.1E+06
2 27789 28041 27737.40 0 1 2.1E+05
3 27938 28147 28076.56 2 2.8E+06
27938 28147 28076.96 2.7E+06
4 31171 31461 31251.98 1 0 6.6E+05
31171 31461 31282.14 5.3E+05

5 31230 31482 0O(torsion)
6 32980 33298 33134.87 1 1.5E406
32980 33298 33136.00 1.5E406
7 34967 35512 35117.53 3 1 3.3E+06
34967 35520 35118.05 3.3E+06
8 35215 35450 35256.75 0 0 9.9E+05

06.2: 0000 (P-10)0000000D00O0OO

300 P-100000D00O00O00O0DOO0ODOO0 (9km) 0000000
10000000000 5000000000000000000000000D0000D0000D0O00O000000
goooooooooooooooooobooOoOoo
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9 42167 42747 42388.53 2 3.1E4-06
42167 42747 42390.65 3.3E+06

10 42621 43135 42831.74 3 2.8E+06
42621 43147 42832.02 2.8E4-06

11 43137 43507 43321.16 1 1.6E+06
43137 43507 43331.18 1.9E4-06

12 43308 44107 43418.28 1 2.4E+06
43308 44107 43420.20 2.4E+06

13 43429 43985 43446.83 0 4.8E+05

14 44409 44936 44603.55 2 2.7E+06
44409 44936 44604.04 2.8E4-06

15 48003 48453 48197.17 3 3.1E+06
48003 48454

16 48437 49592 48679.75 4 3.2E4-06
48437 49592 48680.70 3.3E+06

17 49838 50555 49871.06 2 3.0E+06
49838 50555 49873.58 2.9E+06

18 50353 50769 50272.60 0 1.3E406

19 50400 50824 50550.53 1 1.9E4-06
50400 50824 50552.30 1.9E+06

20 51090 51833 51307.50 0 2.7E+05

21 52546 53388 52726.03 1 2.4E+05
52546 53388

22 54551 55511 54842.20 4 3.2E4-06
54551 55511

23 55217 56123 55442.00 3 2.8E+06
55217 56139 55442.18

24 57069 57869 57278.87 4 2.9E+06
57069 57869

25 57421 58155 57690.13 2 3.3E+06
57421 58155 57693.25

26 60288 60932 60454.60 2 2.8E+06
60288 60932

27 61151 63275 61457.58 5 3.5E+06
61151 63275 61457.78

28 61263 61964 0O(torsion)

29 62460 64772 O(torsion)

30 64988 66543 65336.08 5 3.4E+06

O 64988 66543

31 65789 66107 65987.33 0 3.4E+05

32 65807 67386 66055.33 4 3.0E+06

O 65807 67386

33 66542 68118 66704.75 2 2.7E+06
66542 68118

34 66726 67622 66754.20 1 3.6E+05

O 66726 67622 66757.80 3.6E+05

35 67241 68549 67405.75 3 3.2E+06

O 67241 68554 67406.43

36 67893 70045 67991.43 0 5.2E+05

37 68349 70278 68594.89 5 2.6E+06

O 68349 70278

38 68764 69500 O(torsion)

39 69460 70959 69747.17 1 1.3E406

O 69460 70959 69748.67 1.4E+06

40 69936 71422 70231.55 1 7.3E+05

O 69936 71422 70234.40 7.5E405

41 70563 71697 70743.03 3 2.9E+06

O 70563 71718 70743.53

062 0000 (P-10)000000DOOOO
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42 70692 72502 71074.60 1 0 2.6E+05

O 70692 72502 71076.23 2.9E+05

43 71589 73295 71947.97 3 1 3.5E+06
71589 73305 71949.27

44 73386 76889 73718.95 6 1 3.5E+06
73386 76892

45 75598 78438 76009.81 6 0 3.5E+06
75598 78439 76010.31

46 76354 78941 76625.61 5 1 3.0E+06

O 76354 78941

47 77337 80334 77504.00 1 1 1.9E+06

O 77337 80334

48 78211 80471 78401.30 3 1 2.9E+06

O 78211 80510 78402.10

49 78847 80473 79245.23 2 0 2.9E+06

O 78847 80473

50 79454 81526 79760.42 4 0 3.0E+06
79454 81526

51 79835 83349 80120.93 6 0 2.8E+06
79835

0 6.2 0000 (P-10)000000DOOOO

QODOO0O000

000000000000QUO00D0O0O00D00OOrdern>1000000 10% 00
OO0000000000Ordern=0,100000000000000000000DOOOOOO
goooo0o0oO0O0O0o0o0oO00oO0oOO0oOoUUUOUUUUUD QUoooooooooooooo
0000000000000000 QUOO0000000000000%0000000 6.210
ooo

0621000000000000 Ordern>100000000000QODOOO0OOOOO
00000000 10%0000000000000000000000DO0OUO0ODO0O0ODO QUO
gboooooboooooobooon

Qintrinsic = 3.0 x 106 (624)

gooooooQoOoop300000000O0O0QOUOOO3OOOOOOOOOO

gbooobooon

O000000ooooOoO000oooooooop300000000Ordern =0,10000
ooooooooooooobooOoooobOoOooobooOooobooooooDooooP-30000O00O0
622000000000

ooooooooooooo0oooooO Qoooooooooo0goooooooOoogo
Ordern =1, Parity even 0000 12000000000000000C0C0OCCCOCOCO0OO0O
QO (25x100000000000000000 intrinsicd QOOO0O0DO0D0 62200000
oooooooo

r=0.67 (6.25)
200000000 QUO0O0O0000O0O0oooooooooooog




100 060 0O0O0QOOOOODO

6
4
v BV,
o wop B Gl I 4G5 m |
o 2 0 0T
a O [ . ©) ® n=0,even
ko) 10° Ps B n=0,0dd
5 N ‘3‘ O n=l,even
2 5 O 0 n=lodd
A 5 o °® | ® n=2even
2 4 X n=2,0dd
= 3 © 9 ® n=3,even
C3)’ - E B n=3,0odd
2 ® n=4,even
; = 2 Mo
10 ¥ n=5,0dd
6 A n=6,even
5 vV n=6,0dd

20 30 40 50 60 70 80
Frequency[kHZz]

O 6.21: P-10O0000000 QOOODOOO0OODOCOOOOdern>10000000000O
cOo0oooOooOoQQoOoOoOooDoo

10
8 =
7
6
5 u -
. 4 .4
S 9 ._
a C
s o m
o C
'g [
-6
@ 102 .0
o iy > T
5 QL LE] ® n=0even| L
e E n=0odd | |
O n=leven
8 O n=lodd |'T
) N
2 3 4 5 6 7 8 9 é
1
Utotal

0 6.22: P-10000000000000000O0 (1/Q)00rdern=0,1000000000000



6.3. DO000O00O0 101

ooooo

goboooboooooooooobbooooobooboboooboobbooobooDboboOoDbo
gobooboboooooobooboooobboobooooooboooboobooooooobooonog
goboobobooooooboobooobbbooboobooooooooooooooboooonoag
000 QbOO0o00oooo0oobooOoooooooooo

0000000 (Order n>1000)

OO0 P-100000P-30000000000rdern >100000 QUOOOOODDODODOO
goooooooOOoOoOCOOOO000UOooooOoooOOoOo0oOooooDoDoOoQUOuOoboO
000000000 0000000000%®000000000000000000000000
gboooboooboobooboboobooboobooboobon

e 000 IOIOOOOODODDOOODODOODODOO Structure Damping 00O OO0O0OOOO
e 00DDOO0OQR=30x100000000 P-10000 intrinsicd QO 0000

gooooooogon
bobooboooboobooooooobobobobobooooooooooobooboooban
oooooooooooobobo p-1O0O0DOOOOODOOOOODOOOOODOOOOODO
gobooobobooooooobooobooobooooooooooooooboooobooobooooog
gboooooooooobooobo
p3000000000000O0QUUOOOOOOOOODOOOOOOO P-1OODOOOOOO
goboooboooooooboooooboboooboooobooobbooooooooboOoobooP-30
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0000000000000 0 (D000 Fig4)DOOOP300000000000O0O0OOOOO
oooooogop-1000000100000000O0DODOODODOOOOOOOOO0OO0OOP-10
gobooobobooooooboobboooboooooboooobboooobooobobDooboOoobooog
gooooobooooobobbooooboboooboboooo
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000000000000 00000O00oUoo0oUooooUo joooooo

gboooboooogo

booobooooooboobooboooonbo

OO000020kHzO0O 80kHzOOOODODOOOODOOOOODODOOOOOOOODoOOoOooo
gboogo3ssooboboobobooobooboobooboobbobbobboobooboo
gboboooooooooboboobOoboooobobooooobooogoes3noonn

00000 (Ordern=1,2,4)0000000000000000O00O0O0O0OOOOOOOOO
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000 No. | FEM(Hz) | 00O (Hz) | 00O (%) | Ordern | Parity p | Best Q
1 28634 28564.23 0.24 2 1 1.2E4-06
2 28635 28584.00 0.18 1.5E+06
3 38504 38499.84 0.01 2 0 1.6E4-06
4 38505 38535.05 -0.08 2.1E4-06
5 41271 41265.94 0.01 O(torsion) 1 7.6E4+07
6 41325 41251.26 0.18 0 1 1.6E4-05
7 45781 45716.04 0.14 1 0 6.7E4-05
8 45782 45732.90 0.11 5.8E+405
9 47129 47015.36 0.24 1 1 5.2E4+06
10 47130 47050.37 0.17 4.1E4-06
11 48980 48600.56 0.78 3 1 7.0E+07
12 49188 48829.17 0.73 3 1 1.3E+07
13 54885 54928.25 -0.08 0 0 9.4E4-05
14 60431 60373.33 0.10 1 1 3.5E4+05
15 60431 60390.20 0.07 4.3E+05
16 60830 60628.97 0.33 3 0 2.3E4-06
17 61250 60815.09 0.72 2 1 2.9E+4+06
18 61251 60846.08 0.67 5.8E+405
19 62627 62345.99 0.45 3 0 1.0E4-08
20 64118 63602.80 0.81 2 0 1.1E+07
21 64120 63623.50 0.78 1.0E+07
22 66649 65789.60 1.31 1 0 2.2E4-07
23 66649 65804.87 1.28 2.4E4-07
24 67824 67379.96 0.66 0 0 5.9E+405
25 68633 67588.89 1.54 4 1 1.6E407
26 68634 67592.55 1.54 1.7E407
27 71345 70829.18 0.73 2 0 6.6E405
28 71347 70851.58 0.70 6.4E4-05
29 71533 71182.56 0.49 3 0 2.1E4-06
30 72724 72493.50 0.32 4.9E+07
31 75035 74388.95 0.87 3 1 7.0E4-07
32 75323 74666.18 0.88 1 1 9.2E4-05
33 75324 74689.06 0.85 1.8E+06
34 76259 76003.53 0.34 0 1 3.6E4-05
35 76897 76653.15 0.32 1 0 4.3E4-07
36 76899 76656.26 0.32 4.2E+07
37 78030 77518.65 0.66 3 1 3.5E4+06
38 79383 79258.20 0.16 0 0 3.7E4-06

063 0000 [111)00000000ooo
QUoOOoooO
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000000000000 0O00000000O0O0000000
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330 50000000000000000000Order, Parity 000000000000000000000000O0
gooooooooooOoO0O0oOoOOoooboOooboboooboboooOOoOOODOOODOOO0OOO000000000000000D
goooooooo
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—— Measured Data] |
—— Fitted Data 1
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1/Q (Si[111])

® n=3, even
@B n=3,0dd
m n=0,0dd ®
H
Torsion

10

4

5 6

7 8

SurfaceArea*Displacement2

0.1

0 62: 0000000000000 OO0O0ODOOOOOO0OOOOOO0O0ODOOOO0OO0O00O0d
gboobo0oOsib0obonoooDOoDO

gbooobooobgon

OO000D30kHzO00O 100kHz2OOOODOOOO0O0ODOOOOO
Usb00b0ubooboooooboobooboobooboonbo2b0b00o40b000000
gobooooooboooboooboooboobboooobooooooboobbooooooobobooo

gbooobooboooooboboooooboooooboooobobbboe4bbOonO

0000000000 HzOOOOOOOOOOOOO0OO0OO0oOooQUuoooooooogooo
goboobooboboobooooobooobooooboobobooooo0ooboooooobooonog
goboooooobooobooooobooobboooooooboooboooobooobooooo

ooooo
000 No. | FEM(Hz) | OO (Hz) | OO (%) | Ordern | Parity p | Best Q
1 34581 34250.42 0.97 2 1 1.2E+07
2 34581 34290.50 0.85 1.2E4-07
3 47245 46838.79 0.87 2 0 9.8E+06
4 47245 46924.81 0.68 1.0E+07
5 50239 49992.83 0.49 O(torsion) 1 9.2E+06
6 51096 50673.78 0.83 0 1 2.5E4-05
7 55716 55264.56 0.82 1 1 5.7E+05
8 55716 55301.12 0.75 1.6E406
9 55750 55399.19 0.63 1 0 7.1E4+06
10 55750 55486.58 0.47 3.7TE4-06
11 59190 58370.01 1.40 3 1 1.4E4-07
12 59338 58516.39 1.40 3 1 1.1E4-07
13 67969 67569.10 0.59 0 0 1.4E+06
14 73865 73337.38 0.72 1 1 2.3E+05
15 73865 73375.87 0.69 1.1E+05
16 73882 73057.20 1.11 3 0 6.5E4-06
17 74315 73468.00 1.15 2 1 2.6E+06
18 74315 73541.08 1.05 4.1E+06
19 74745 73977.01 1.04 3 0 6.4E4-07
20 77620 76483.04 1.49 2 0 7.1E4-06

064 00000 [o00lj000O0O0OUOOOO
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21 77620 76532.62 1.42 7.9E+06
22 79960 78495.56 1.87 1 0 6.7E+06
23 79960 78545.45 1.80 8.7E+06
24 82646 80883.46 2.18 4 1 8.1E4-06
25 82646 80886.61 2.18 8.7E+06
26 82807 81835.32 1.19 0 0 6.6E-+05
27 86790 85848.12 1.10 3 0 1.7TE+06
28 87463 86618.97 0.97 3 0 8.7E+06
29 87463 86231.55 1.43 2 0 1.6E+06
30 87464 86303.47 1.34 8.4E+05
31 90902 89633.17 1.42 1 1 2.4E4-06
32 90902 89694.40 1.35 6.4E406
33 91139 90439.78 0.77 0 1 4.3E+05
34 92258 90895.39 1.50 3 1 3.1E4-07
35 93227 92407.77 0.89 1 1 4.8E407
36 93227 92413.14 0.88 5.9E+07
37 94239 93073.12 1.25 3 1 8.2E4-06
38 95905 95330.26 0.60 0 0 5.6E-+06
39 97693 96101.94 1.66 4 0 4.3E4-06
40 97694 96103.23 1.66 4.4E4-06

064 00000 [0001j0000O0O0O0OOOOO

QUDOOoOooo

00004000000000000 QUOOOODOD0DO0OO0O0O0DO0DQOUUOUOOO 10% 00
0000%¥ 00000000000 QUOO0000000000 629000000000 QOO
oboooooboooobooboog

QUOO0OUO0O0OOrder n =3, Parity even 0 000 19(0 0 0O :74.75kHz00 O O :73.98kHz) O
gbooooboooog

Qmax = 6.4 x 107 (6.28)
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1| Mode 24,25
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64 U0OOOOOO
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